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N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)
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distargrey steps; PS operatar® n* n* 0 setcmykcolor
OE87 In-output relation according to ISO 9241-306; DH
Viewing Y contrastyyy:YN=88,9:0,31;YN range 0,0 to <O 46
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output 020-2: no change
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L = i LABtref lout  LAB*out LABroutc-ref  AE* Start output S1 For linearized output of the 16 grey steps of Picture A7-020-2 50
Q Lo . . o wn
5= 100 00 00 00 00 00 00 00 00 o0 o001 Specification accordingto * (dash-star) coordinates to reach P >S5S
Sm 263 00 00 007 63 00 00 00 00 o0 oot |SO/IEC 15775 Annex G W 1,001 ( - . ) ! ) 5“8_
§ o 31272 00 00 013 1272 00 00 00 00 o0 oor and DIN 33866-1 Annex G w*output the linearized output with the real 8 g
DD 419008 00 00 02 1908 00 00 00 00 00 00L Woutout display reflection in office room; = I\.)
o <28 52544 00 00 027 2544 00 00 00 00 00 001 P |ighter (positiv P) output 'g o
= g 6318 00 00 033 318 00 00 00 00 00 001 0.754 w* e 1.00 — :
oo 73816 00 00 04 3816 00 00 00 00 00 001 ’ output — input] = 8
S a 84452 00 00 047 4452 00 00 00 00 00 001 oo
= j 95089 00 00 053 5089 00 00 00 00 00 001 % B
= 105725 00 00 06 5725 00 00 00 00 00 001 7} @)
g 116361 00 00 067 6361 00 00 00 00 00 001 0.50- ﬁ Q
S = 126997 00 00 073 6997 00 00 00 00 00 001 ' * (star-dash) coordinates = l‘
" % 137633 00 00 08 7633 00 00 00 00 00 001 of real output with real g @)
o 148269 00 00 08 8269 00 00 00 00 00 001 . L . S g
D . . display reflection in office roomj =
38 158905 00 00 093 805 00 00 00 00 00 001 Mean lightnessdifference (16 steps) . O I:l
O |[1B9%4 00 00 10 954 00 00 00 00 00 001 AE*ciELAB= 00 0,251 darker (negativ N) output ; w
Qo 17 00 00 00 00 00 00 00 00 00 00 001 *! =[wr ] 1.00 ﬁ JZ>
% 3 182385 00 00 025 2385 00 00 00 00 00 001 output input o 7
3 % 194770 00 00 05 4771 00 00 00 00 00 001 winput 3
NN |20715 00 00 075 71056 00 00 00 00 00 001 Mean lightnessdifference (5 steps) . . . } v -
m ﬁ 219541 00 00 10 9541 00 00 00 00 00 001 Al*cigrap= 0.0 N 0,00 , ! ! ! ! ! =) %
< 8 Mean colour reproduction index: R*ap,m = 100 N 0,07 0,25 0,50 0,75 1,00 W 8— wn
g — OEB870-3N-020-2: File: Measure unknown; Device: Device unknown; Date: Date unknown OE871—3N-020{2: File: Measure unknown; Device: Device unknown; Date: Date unknown E)"
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